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1. Fill in the blanks .

a) The numbers that are added in an addition problem are called _____________.
b)  The sum of any number and 1 is the ________________ of that number.
c) When ___________ is added to any number , the sum is the number itself
d) The number which is subtracted from the greater number is called the __________.
e) The answer in subtraction is called ___________________.
f) Subtrahend + Difference = _________________
g) Minuend - Difference = _________________
h) If 1 is subtracted from a number , the difference is the _______ of the given number.
i) 99,999 + 1 = ___________   

j) 69,999 is 1 less than _____________

2. Write ‘True’ or ‘False’

a) One more than largest 4 digit number is 10,000.

b) 1000 more than 52,330 is 62,330.

c) If you subtract a number from itself the answer is 0.    

d) Subtraction is used to find out the total amount.

3. Add down.Check by adding up.

a. 36,025 + 53,458            b. 47,290 + 28,549 + 2783

4. Subtract . Add to check your answer.

a. 82,015 – 30,453            b. 14,000 – 12,365     

5. Solve the following.
a. 27 + 15 ( Add by breaking up any one number.)

b. 77 + 32 ( Add by breaking up both numbers.)

c. 35 + 54 ( Add by counting in tens.)

d. 78 - 32 ( Subtract by breaking up the second number.)



6. Find the total money due in this bill and  the amount received as change .

                                                                                     Paid
Bill

Pizza ₹ 250.50

Banana Shake ₹ 125.00

Cake ₹ 170.00            

Total

                                           
Balance due : _______________

   

7. Solve these addition and subtraction problems .

a) How much smaller is 4,285 than 11,780 ?

b) What will be the difference if the sum of 6431 and 2254 is subtracted from 15,550 ?

c) In a parking area, there were 15,650 cars and 8,925 bikes. How many more cars were 

 there than bikes ?

d) Raj bought a new washing machine  and gave the old one in exchange.

The old washing machine was valued at  ₹ 4,600. He had to pay the dealer  ₹ 35,580.

     What was the cost of the new washing machine ?

e) What should be added to 25,435 to get 45,750


